Hydrogen atom 25/11/2020

’1) Solution of stationary Schrodinger equation

- properties of wave function

\L’ - spectrum of hydrogen atom, specroscopic notation

2) Dimensions and orders of magnitude

3) Last comment about spin - orbic coupling
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https://mathworld.wolfram.com/SphericalHarmonic.html
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Figure 4: Energy levels of the hydrogen atom. The energy E,, of each level depends only

on n. If n is fived, several values of | are possible: | =0,1,2, ...n— 1. To each of these
values of | correspond (21 + 1) possible values for m:

m=—l, —l+1, .., L

Consequently, the level E,, is n?-fold degenerate.
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